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The following table shows the cumulative percentage distribution of the total number of visitors
to Kullu and Manali together and cumulative number of visitors to Kullu on five different days,
that is Monday to Friday. Based on the data in the table, answer the questions.

Day-wise Distribution of visitors
Dav Cpmula‘rix‘e percentage of iL(l‘urnulztti'\'e number of Visitorg
Visttors to Kullu and Manalifto Kullu

Monday 15% 360

Till Tuesday  p0% 1060

Till Wednesday[70% 1340

Till Thursday  [80% 1700

Till Friday ~ [L00% 1960)

Note: Total number of visitor to Kullu and Manali together in all five days is 4000
Sub questions
Question Number : 1 Question Id : 34212314992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The total number of visitors to Manali on Monday and Wednesday is % of the number
of visitors to Kullu on Wednesday.

1.200

4.50

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average number of visitors to Manali on all the days except Monday?

1. 560

1]
e
i}
=

4. 450
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If 20% of the visitors to Kullu on Tuesday are foreigners and 40% of the visitors to Manali on
Friday are foreigners, then what is the total number of visitors to Kullu on Tuesday who are not
foreigners and to Manali on Friday who are foreigners?

1.920
2.776
3.984

4. 344
Options:
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The average number of visitors to Kullu on Monday and Thursday is % less than the
number of visitors to Manali on Wednesday.

13329
2.63.89
3.67.44
4.50.28

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of visitors to Manali on Wednesday to the number of visitors to
Kullu on Thursday?

1%)

2.43

4.34

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314991 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Monday 15% 360
Till Tuesday  p0% 1060
Till Wednesday|70% 1340
Till Thursday  [80% 1700
Till Frday  [L00% 1960
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Sub questions

Question Number : 1 Question Id : 34212314992 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIUGR 3R R Pl Heflcil & T &I el G §HdR Pl Gog b T ol GBI 6l
{1 Wi g7

1.200
2. 150
3.125

4.50
Options:
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314993 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AR Bl BISHR G el H 71l & Ted! $f Sigd T fdhdHi g2

1. 560
2.520
3.490
4. 450

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314994 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e TR 1 ee] o 20% T fa¢eit § T TR Bl THTelt d 40% Thed faei g,
TR P! e d d T fesil g1 ¢ 7u1 LhaR &1 THTelt o 4 Wed ol faeeil g, Bl
Gl U fobedl 2

1.920
2.776
3.984

4. 844

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314995 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YR 71 TR @l Hecl & THCh! B 310 S §HaR &1 TNl & Ted] &l §e @l
e fde TIaerd (%) BH 2

1.53.29
2.63.89
3.67.44

4.50.28
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314996 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%mﬂaﬁrmﬁﬂ%wﬁmaﬂmﬁm%Wﬁ@wﬁww

1962
2.43
3.2:9

4.34
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123589
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212314997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the characteristics of learner centered Approach?

A. It lays emphasis on skills

B. It is centered on learner's needs

C. It 1s centered on cooperative determination of subject matter
D. Lays emphasis on variability of exposure

Choose the most appropriate answer from the options given below:

1. Cand D only
2. A, Band C only
3.A.B.Cand D

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212314997 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Il bi<d SUNH DI fa=ivdrt Fgfafad 9 &1 9 g2

A T BN R IASdl g

B. 48 MU THGC & ATaRUGdI3 IR dBid gidi g

C. Ug 99T Aridl & YedRI YR R Si<d 8idl o
D. U8 3191 &1 URAd-=Ndd R §d odl g

I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®Hadd C 3R D
HddA. B3R C

(o

A,B.C3RD
4. Had B AR D

Options :

[



1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is a free and Open-source content collaboration framework based on
Javascript that enables existing CMSs and LMSs to create richer content?

|. H5P
2. Plotagon

3. Mindmeister

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314998 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

779 1 g offa fpp R 3R 98 B 91 e 9 e A 9] UgHR hodah § ol
AT Y1 0 T 31X U O 0 1 3Hfeleh T ferg- o ot Tl el T e aTer 82

1. H5P

. TN
3. HgSHERA

4, TR

Options :
1.1
2.2
3.3
4.4




Question Number : 8 Question Id : 34212314999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A child of first class is trying to learn how to draw a circle on his own but is able to do with the
help of his/her teacher. In the light of Vygotsky's theory, it highlights?

. Assimilation
2. Adoption
3. Zone of proximal development

4, Maturation

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212314999 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS 8T 1 U a1 T TR G &7 bl T X g ¢ o] oI 18086 1 g
T e o U7l | faTan! o gl o aireileh 0 fobl i el 2

1. THTHRT

R DORL
3. PR fapm &7
4. URUEA

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Project method of teaching was first propounded by.

1. Crow and Crow

(i)

. John Dewey

(el

. Robert Miller
4. Robert Mager

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315000 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fRreror 1 ufvarsn fafer &1 fdured gduyA fogr fear ur
1. ST 3R oI

ol f&dt

3. ¢ fHeR

4. 3¢ UIR

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 10 Question Id : 34212315001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SWAYAM is a programme initiated by.

|. Government of India

(i)

. National Council of Education Research and Training
3. University Grants commission
4. Indira Gandhi National Open University

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315001 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y (SWAYAM) foh &b gRT SR fohdl 781 Ueh HrihH 62
1. HRd TP

3. fayfaenery o ar 2T

4. SfexT et YT Had fayfaere™

Options :
1.1
2.2
3.3
4.4

(g

Question Number : 11 Question Id : 34212315002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a conclusion incorporates a casual relationship between two or more variables it has measured.

. External validity
2. Internal validity
3. Replicability

4. Conceptualisation

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315002 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i U IS &1 47 34fefe TR o i BRUNED Yeit] bl GAIAY Bl g ol G fehpT
YA X o g2

1. TR dYel
2. AR defaT
3. GRIgheid (Rteidsfafed)

4. AGYRUDRT
Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



An instrument used in structured observation that mentions the categories of behaviour to be
observed is known as.

1. Category schedule
2. Observation device
3. Observation schedule

4. Ontological tool

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315003 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR Viefor & We gi-aTel 39 T Pl b 0 H o1 fel 8, S Uied fobt o ared
FER & q bl Jwhg HRell g7

CUEENEER)
2. D& e (f3arey)
3. VIefuT gt

1, TAHA® SIS ()

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Response of participants who are well aware of the fact that they are being studied is considered
as.

. Directed response
2. Intentional response
3. Desire effect

4. Reactive effect

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315004 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I WiMITT 1 Sfeha bl ol AT el €, ol 29 e Y Ui § b e IR o ofege
FRIEIRSE,

1. FG TR i
» IR o

3, qifad UHE
4. i TTeHE I

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are different tvpes of ethnography?

A. Classical ethnography

B. Mainstream ethnography
C. Post-modern ethnography
D. Private ethnography

E. Expressive ethnography

Choose the correct answer from the options given below:

1. A, B and C only

(]

.B. C and D only
3.C.D and E only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315005 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Qualitative research makes use of.

1. Scaling

. Factoring

3

L

. Representative quotations

4. SPSS
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315006 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UIEIURD 2N [HHepT ST Pl 82
1. 3FHIY (T i)
PR (G0 (Ha )

[

3. UfdMs IS0

4, T U THTY

Options :
1.1
2.2
3.3
4.4



Question Number : 16 Question Id : 34212315007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In ancient times, the oral communication system operated in an environment that was.

|. Literate
2. Urban

3. non-representative

4. Mediated
Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315007 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui i | fdhd arrarl H HiRad GRISo Yollel &l GREferd faal STl 41

1. Y&

2. TR

3. 7R - faffed
4. H1eAd (HIfSTCS)

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Any study of messages at the recelvers stage is known as.

1. Communicator analysis

(i)

. Message analysis

(el

. Noise analysis
4. Audience analysis

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315008 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui & IR0 IR Yo & fardl 4T e &l {69 =0 H S Sl 82
1. GRS [a%eu

2. Gaxl fazeyu
3. QIR fa=emor (Higs THIfeiE)
4. TR (3TSTY) fazemur

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are main functions of mass communication?

A. Detachment of individual from society

B. Indulge in message creation without worrying about moral consequences
C. Surveillance of environment

D. Transmission of social heritage

E. Correlating the parts of society in response to environment

Choose the correct answer from the options given below:
1. A, Band C only
2.C.Dand E only
3.A.Band D only
4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315009 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafafad 0 9 S 99 GdR & I3 TR g2

A. Il & GHN Y SHRTGT
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For preservation of their power the ruling elites seek from media channels.

1. Societal intelligence
2. Entrepreneurial partnership
3. Digital technology diffusion

4. Voices of dissent
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315010 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SIS Bl 30! Al & TR0 g At aHal U 8 & 4 &1 9rgd g2
1. eI gfgadn

2. JEHITAT YR
3. TefSed Uit faarur
4. [y BT TR

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212315011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Individual who live in a particular community develop distinctively patterned systems of
L. Information distribution
2. Media ownership
3. Media marketing
4. Information imperialism

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315011 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U oI Tegery e ol et eafeeal o e o © o 4 ot egw U] et orifera
fao i 81 ofel 62

1. G faeRT
2. Hifsr w@iffd
3. Wit fquur

4, qd-il <lHleddlq

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Two persons X and Y invested 15,000 and 20,000, respectively, in a business. At the end of
the year, they share the profit in the ratio of 3:1. If X has invested his money for the whole year,
for how many months Y has invested his money?

1.3

4.4
Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315012 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

&1 TGl X AR v < U oaw H R 2 15,000 3R 2 20,000 1 e foan| au & 3iq |
I Y Pl 3:1 B STt | e foran| 9 x 3 o e Bl FHT R b feru foar g at y
3 A B Y e AR o fau fa €

1.3
2.6
3.5
4.4

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain code language A is coded as Z, B is coded as Y. C s coded as X, and so on. How
‘PERFECT’ will be coded in that language?

1. KVIUVXG
2. KVIVUXG
3. KVIUVGX
4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315013 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T @ HWI T A DI 2 &Y Hpedg (b1 TS, B Pl Y & ¥ 1 dess [T g,
B X T T hds (51T g AR SHITHR 3T Heds il T g1 Iad ¥ |
PERFECT" Pl ¥ B (g1 ST

L. KVIUVXG
2. KVIVUXG
3. KVIUVGX

4. KVUIVXG

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum of money becomes 34800 in 2 years and ¥ 42,000 in 5 vears at simple interest per
annum. Find the rate of interest and the sum of money respectively

1. 6%, T 40,000
2. 7%, T 30,000
3. 8%, 230,000

4. 5%, T 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315014 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U YR 1 QYR ST 63 TR 2 a4 H 2 34800 3R 5 34 H 242,000 81 ST 5| oA
T & d 4RI J1d DI

1. 6%, 40,000
2. 7%, 2 30,000
3. 8%, 3 30,000

4. 5%, 35,000

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What number would replace question mark (?) in the series given below?
1,7,16,28,43,61,827

1. 102

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315015 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfaRad 4@ o ugdarEs &g (2) &1 SH 9 G uidwiiud e

1,7, 16, 28, 43, 61, 827

L. 1

[

. 143
3. 106

4. 110

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In an examination, average marks of six students is 50. However, during cross checking of the
papers, it is found that the marks of one student has been misread as 48 instead of 84. Find the
correct average marks of the students.

152
2.54
3.56

4.8
Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315016 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U WRie ¥ B¢ faaiial o Jied 3ie 50 | It U1 1 O: i e o 7 i U
faeef & ofh] I 84 o W W Telelt 4 T feran 7 o1 | ferrfeat oo g 3t o 1l
DI

1.52

3. 56

4. 58
Options :
1.1
2.2

3.3
4.4

Question Number : 26 Question Id : 34212315017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which informal fallacy is committed in the following statement “Famous actor Jimmy Pecker has
said 1n an interview that astrology s a real science, therefore scientists now must acknowledge
that astrology is actually a science."?

1. Appeal to Inappropriate authority

2. Red herring

3. Strawman

4. Appeal to Ignorance

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315017 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeiRad e H I SIS b - 19 62
<TG SAHAT o U A T TYTHR H $gl g b S foqH U ardfd fag .
SR AID! B1 3(G%0 HH o1 1T fob e fagH ardfod &0 9 U fagr €1

1. TG TPR U 3G
2. YIHE Udhd (38 2T

3. 919 1 el (RTEH)

4. WIS e

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are subalternate as per traditional square of opposition?

A. All plants are green organisms

B. No plants are green organisms

C. Some plants are not green organisms
D. Some plants are green organisms

Choose the correct answer from the options given below:

1. Aand D only

2.Band D only

v

3. Aand C only

4. Aand B only

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315018 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAfeRad ® O 19 Y- 3y & URMRE 37 & 3Ulfyd g2

A. Gt Uy gRA g €|
B. Bl H1 U1y gRd Siid 181 §|
C. $9 UIqY gRd Sild gl 3 |
D. $% UlgY gRd Sild |
I feu U 9 el § U T 3R &1 994 DIfSIU:
|.®ad A 3R D
2. Hdd B 3R D
3. hdd A 3R C

4. Hdd A 3R B

Options :




1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. All cats are carnivorous animals

B. All non-carnivorous animals are non-cats
C. No cats are non-carnivorous animals

D. Some carnivorous animals are cats

Choose the correct answer from the options given below:

1. A. B and C only

[

.B, C and D only
3.A. Cand D only

4. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315019 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafad # 9 o118 $y difhd U 9 Ad 62

A. Tt fafcerat e o €|
B. T4 TR - igRI U R - fafeedi g
C. By Yl faeedl TR - AiAeRI uxy gl ¢
D. $% Uil U fafcerdi B

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HId A, B3R C
2. $HddB, C AR D
3.PdA A, C 3R D
4.Had C 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the statement “all lions are carnivorous animals” is given as true which of the following
statements can be immediately inferred to be false?

A. No lions are carnivorous animals

B. Some lions are carnivorous animals

C. Some lions are not carnivorous animals
D. Some carnivorous animals are lions

Choose the correct answer from the options given below:

I.Cand D only
2. Aand C only
3. Aand B only

4. B and C only



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315020 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 39 e ] 2R IR U= ¢ 1 U o U 4 T T € ol e H ¥ o
G/ BU BT 3T & T 1 dleplfcrd S ol off T 7

A % TR AR R e ¢
B. §8 T AR TR ¢l

C. 39 W AWK T T3l ¢
D. T8 HiTgR T R ¢

i U fodedl 4 Y 9T SR P 99 DI
1. Badc 3R D

2. HIdA IR
3. Hdd A IR B
4, HaAB AN C

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212315021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per classical Indian school of logic (Nyaya) which of the following fallacy is committed when
the middle term is too wide?

. Anupasamhari
2. Badhita
3. Sadharana

4. Asadharana

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212315021 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

QT WA T - 7 (1) & 38R S A9 UG 3fafie faigd gl g f 99
Fgfcfad H Y S - 3N gidl 62

1. SRR
2. 911

3. IHRY

4, YR
Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Consider the following snapshot of MS-Excel worksheet:

A B E D
17|Day Quantity | Sales Amount (3)
18| Monday |1 234
19| Tuesday |3 144
20| Wednesday|6 367
21| Thursday |3 674
22| Friday § 1099
23| Saturday |3 233

In cell D18, the value returned by the function.
=SUMIFS (C18 : C23, B18 : B23, *“>3", C18: C23, “ >500") is

1. 1466

]

. 2140
3. 1773

4.26

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315022 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A B |c D
17|fe&A HET | faepg i (3)
18|9HarR |1 [234

19[HTgaR |3 [144

]
f—
LA
L)

-1
N

[
Ly
L
[t
Lad
L3

Cell D18 H 99 e gRT oAt d Hed a1 82
=SUMIFS (C18 : C23, BI8 : B23, “>3", C18 : C23, “ =500")

l. 1466

[

2140
3. 1773
4. 26

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the context of Computer Networks, which of the following best describes the transmission of a
message using packet switching?

. Data packets may follow different routes and may arrive at different times in different order.
2. Data packets will always follow the same route and arrive at the same time in the same order

3. Data packets will always follow the same route but could arrive at different times in
different order

4. Data packets may follow different routes but will always arrive at the same time in the same
order



Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315023 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SR Hedeh| b Ge 1, The R 1 T &R e U & Hafaied § 9 S i
U Yl

1. ST U fir - ot AT o et © 3R o oo # ot el R U Wb

2. 321 b ST Uk B T i1l 31K U 81 6 ¥ U 61 90y R Ul

3. 51 Udve GHT U g1 A1) offl W P 6 A - ol vl R U e
4. 51 Udhe fird - fot o] of el § U o 0 Uah 1 6 H Udh 1 90 R U1

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about Number system?
1. The binary equivalent of the decimal number 57.625 1s 111000.101

2. (145)6 =(75) 10

L

. (1011), +(1001), = (20)10

4. (65)10=(220)s

Options:
1.1
2.2
3.3



4.4

Question Number : 33 Question Id : 34212315024 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UITelt & Heel H 95 # 9 b G HY Tl ¢
1. G U7 57.625 DI fgaR ded 111000.101 B

[

: {145}6 = {75] 10
3.(1011); +(1001), = (20)1

4. (65)10=(220)s

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements about Read Only Memory (ROM) are correct?

A. The contents of the memory remain intact even when the power to the ROM is turned off
B. ROM is often used to store the start-up instructions when the computer is first switched on
C. As the ROM becomes full, the processor has to continually access the hard disk

D. ROM is a volalile memory

Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3. Aand C only

4 A B CandD

Options :
1.1
2.2
3.3



4.4

Question Number : 34 Question Id : 34212315025 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

had U610 Wit (3R 311 TH) o Gelef ¥ gl § 4 b 4 6o Gl g2
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B. 3R 3l T &1 TN G541 HUeR i Uged el el IR SR (RTE 310) 3 b
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i fu U fadbel § Y @8t TR 6l 90 Dol
| A 3R B

2. HadB AR C
3. HaA AR C

4. A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true about computers?

1. The quality of the pictures taken by a digital camera depends on its resolution, which is
measured In megabytes

2. USB stands for Universal Secure Bus
3. Microsoft Excel is an example of system software

4. The size of a computer monitor is measured diagonally across the screen

Options :



1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315026 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. SO AT & IR BT A0 EhiH B 3R - IR fabuiiy U d fhar s gl

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is used as a reference to measure the Global Warning Potential
(GWP) of a green house gas?

L. Carbon dioxide (CO,)
2. Methane (CH,)

3. Chlorofluorocarbon (CFC)
4. Hydrofluorocarbon (HFC)

Options :
1.1
2.2



3.3
4.4

Question Number : 36 Question Id : 34212315027 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

P B3 T 1 dfiieh o HToda (oft Saey i) 1 1O i fere fferieaa | 3 foerant
T & wu H T fdar o g

L, IS ST 3MTIZS (CO,
2. A (cHy)

3 L&

3. FARTRRIBTEH (CEC)

4. FEGIRRIDISH (HEC)

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Sustainable Development Goal 7 is related to.

1. Gender Equality

[

. Climate Action

(]

. Affordable and Clean energy
4. Quality Education

Options :
1.1
2.2
3.3
4.4



Question Number : 37 Question Id : 34212315028 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tdd faerg deg 7 frad gwafid g2

1.1%1'11\% —d

[
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(el

4. TOTGTIR D fRUe

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Toxic substances that damage kidneys are called as.

|. Hematotoxic

3

. Neurotoxic

(]

. Cytotoxic’
4. Nephrotoxic

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315029 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TG I & Uga dTdl fawred gl &1 fafofad H 9 a1 gl o g
1. gHTCICiagd
2. Rl D
3. ggeleliqyd
4, ApICiaaD

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Montreal Protocol is related to protection of.
1. Biodiversity

. Glaciers

b3

(]

. Oceans
4. Stratospheric ozone layer

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315030 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qifead Ureiald fhddb &1 H Traied g2
1. oId fafgerd

[

3. 9%

4. GHAIHS T 3ol WRd

Options :
1.1
2.2
3.3
4.4

[

Question Number : 40 Question Id : 34212315031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are examples of organic pollutants in water.

A. Salts

B. Pesticides
C. Dioxins
D. Bases

E. Pigments

Choose the correct answer from the options given below:

1. A, Band C only

(]

.B. C and D only

LS

.C.D and E only
4. B, C and E only

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212315031 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U BTeS (D) UgRd! & Hgfafad § o 9 Jaeru g

A, cIdu]

B. DI AR

C. Srafifayq

D. &R

E. 3oid (OTHew)

A fGu U [ dl 7§ ¥ 3T SR &1 99 DT
. $dd A B AR C

2. HIA B, C IR D

3. $Had C. D IR E
4. HAAB. C AR E

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Buddhist system of education higher education was placed at.

1. The first level

(i)

. The second level

(el

. The third level

4. The forth level
Options :
1.1
2.2
3.3



4.4

Question Number : 41 Question Id : 34212315032 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

de [RI&T gaR] |, 3= e &1 fb g QI UR 341 7141 417

L UYH IR
AEGIRESH

3. A TR
4. 9qd &R

o]

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a deemed to be university?

1. Perivar University, Salem

[

. Nagaland University, Kohima

(]

. Guru Ghasidas Vishwavidyalaya, Bilaspur
4. Gandhigram Rural University, Madurai

Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315033 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 43 Question Id : 34212315034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is included among the core values promoted by NAAC (National
Assessment and Accreditation Council) among the institutions of higher learning

1. Framing National Education Protocols
2. Promoting religious education
3. Total Privatisation of education

4. Fostering global competencies among students and teachers

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315034 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315035 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true regarding Fort William College?

A. Its medium of education was English

B. Lord Wellesley taught here

C. Ishwar Chandra Vidyasagar taught here

D. It was here that Ishwar Chandra Vidyasagar Studied along with Subhash Chandra Bose

Choose the correct answer from the options given below:

1. A, Cand D only
2.Band D only
3.A.B,C.D

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315035 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

1< faferay dieisl & Yo H 9 d I DIH 9 Y9 U8l

A. Tgl T21eq1 &1 A1y SiUSh o |

B. dls daidl 4 ggl &g fesar 1|

C. 3% T [eINR  Tgif 21ea19+ o o |
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I [Su U fddhedl § 9 TgT IR &1 994 DI
|.hdd A, C 3R D

2. HadB AR D

3.A,B,C,D

4. HITA R C
Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to National Education Policy 2020, which of the following universal human values
will be considered as an integral part of holistic education?

A. Truth

B. Sympathy

C. Righteous conduct
D. Nonviolence

E. Scientific temper

Choose the correct answer from the options given below:

l. C and E only
2.B,Dand E only
3.A,C.DandE only

4.A,B,Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315036 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. BaqA. C.DIRE
4. BAAA B, C 3R D

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123590
Question Shuffling Allowed : No

Question Id : 34212315037 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



The field ecologist has played a key role in shining the light on the species we love and admire.
They have also underlined why conservation should not be just about caring for a few charismatic
species-the cats, elephants, whales, or Olive Ridleys. It's also about knowing the value of
creatures many of us might consider annoying, even dangerous. For millennia, communities have
attempted to protect animals and plants for practical and spiritual reasons. However, for around
two centuries or so, an anthropocentric view of the world created an ecological discord of sorts.
Utilitarian ideas began to dominate attitudes towards nature, which often meant that even
conservation had a strictly commercial purpose.

Modern environmental consciousness is perhaps about six decades old. In India, organisations
such as the Bombay Natural History Society date back to the late [9th century and the endeavors
of hunters-turned-conservationists played an important role in underlining the value of several
species. But systematic efforts in mainstreaming ecology began much later and owed much to the
works of pioneers like Salim Ali and M Krishnan,

Sub questions

Question Number : 46 Question Id : 34212315038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Utilatitarian ideas started dominating attitudes towards nature about.

1. 2000 years ago

[

. 60 vyears ago
3. 100 years ago
4. 200 years ago

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Modern environment consclousness Is.

1. ~ 20 years old

(]

. ~ 40 years old

(]

. ~ 60 years old
4. ~ 100 years old

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the charismatic species based on the information given in the passage.

A. Deer

B. Whales
C. Elephants
D. Dogs

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Identify the correct statements.

A. Conservations is all about caring for the species we love and admire
B. Communities have been living in ecological harmony for the last two centuries

C. Field ecologists have contributed to our understanding about the value of different species in
our lives

D. Salim Ali is considered as pioneer in India in the field of mainstream ecology
Choose the correct answer from the options given below:

I. Aand B only
2.Band C only
3.Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communities have been involved in the protection of plants and animals for the last.

L. Several thousand years
2. 200 years only

3. 60 years only

4. only recently

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315037 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212315038 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SYAifaEre] fGaRi = Ha Udid & Uid AAIaREl R Yad g1 TR fdar 2
1. 2000 94 Ugdl

2. 60 9N Ugd

3,100 99 Ugd
4,200 9N Ugdl

Options :
1.1
2.2
3.3
4.4



Question Number : 47 Question Id : 34212315039 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

yfd gafarvig I &:
1. ~ 20 94 QR

 ~ 40 99 QR

.~ 60 98 QR

.~ 100 Y QR

Options :
1.1
2.2
3.3
4.4
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Question Number : 48 Question Id : 34212315040 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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AT
B. &l
c. gt
D. T
I fu TTU fddhedl § O a1 3R &1 994 HISIU:

1. hdd A 3R B
2. HAdB 3R C
3.$ad C 3R D
4.Hdd A 3R D

Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212315041 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. $adB IR C
3.99qC IR D
4 $AIA IR D

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315042 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1




2.2

3.3
4.4

Labour Welfare
Section Id : 342123199
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123591
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212315043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has concluded that non- financial incentives are more important than financial incentives.
|. EW.Taylor
2. Henri Fayol
3. Elton Mayo

4. Mary Parker Follet

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315043 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which approach of management emphasises that “the task of managers is to identify which
technique will, in a praticular sitvation, under particular circumstances, and at a particular time,
best contribute to the attainment of management goals.”

1. Behavioural approach
2. System approach
3. Quantitative approach

4. Contingency approach

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315044 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The core of planning is-

1. Objective

b3

. Decision making
3. Strategy
4. Forecasting

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315045 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 54 Question Id : 34212315046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Combining of functional and project or product patterns of departmentation in the same
organisation structure is-

1. Departmentation by time
2. Customer departmentation
3. Matrix organisation

4. Equipment departmentation

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315046 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is the correct expansion of PERT?

l. Programme Evaluation and Review Technique

b3

. Performance Evaluation and Report Technique
3. Progress Evaluation and Review Trend
4. Programme Evaluation and Research Technique

Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315047 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following is the proponent of theory Z in HRM?

1. John Storey

b3

. William G Ovchi

(]

. Vladimir Puick

4. Michael Beer
Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315048 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The process of identifying and uncovering of candidates through a proactive recruitment
technique 1s known as.

|. Head hunting
2. Poaching

3. Candidate sourcing

4. HR stock taking

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315049 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The 5 S technique is mainly associated with which of the following?

1. Quality control

b3

: COlllpE'llSﬂtiDﬂ management

(]

. Performance appraisal
4. Shop-tloor housekeeping

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315050 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has developed / outlined the “Human Capital Appraisal Approach™?

1. T. V. Rao

2. Udai Pareek

3. Friedman

4. Yeung and Berman

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315051 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 60 Question Id : 34212315052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following is not summerised under three C** Model of Human Resource
Development?

1. Competence
2. Communication
3. Commitment

4. Culture
Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315052 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reich distinguished three professional categories of the labour force in a global terms. Which of
the following does not belong to the categories identified by Reich?

1. Routine production services
2. In- Person Services
3. Symbolic- Analytic Services

4. High Tech Services

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315053 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following stages an expatriate suffers from the phenomenon of cultural shock?

|. During the period of recruitment and selection.
2. During the period of assignment abroad

3. During the period of repatriation

4. During the period of training

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315054 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The theory of personality which is based on physical attributes or psychological factors for
categorisation of personalities is known as:

L. Type theory
2. Trait theory
3. Psychometric theory

4. Social Learning theory

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315055 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

An event, repeated several times, evoking desired responses is known as:

1. Operant conditioning

[-2

. Instrumental conditioning

LS

. Classical conditioning
4. Cognitive conditioning

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315056 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A leader who is concerned for High Task and High Relationship exhibits which of the following
type of leadership?

. Supportive style
2. Autocratic style
3. Free- Rein style

4. Participative style

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315057 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In process by which people group stimuli into recognisable pattern so that meaning can be
assigned to them, is known as:

. Stereotyping
2. Perceptual organisaation
3. Perceptual constancy

4. Perceptual Intigration

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315058 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has started the Bengali weekly “Janawani’ in Calcutta?

1. S. A. Dange

b3

. Muzzaftar Ahmed

(s

. N.M. Lokhandey
4. MLN. Roy

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315059 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the founder of *Madras workers’ union?

1. B. P. Wadia

3

. N. M. Joshi
3. N. M. Lokhandey
4. Cowasji Namabhoy Davar

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315060 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under which section of the Trade Union Act, 1926 the formation of seperate political fund for
promotion of civil and political interest of Trade Union has been provided?

1. Section 6
2. Section 12
3. Section 16

4. Section 18

Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315061 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. URT6
2. 4RI 12
3. 4RI 16

4. U118
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has developed the Technological Theory of Trade Unionism?

|. Robert F. Hoxie
2. Frank Tannenbaum
3. Selig Perlman

4. John. R. Commons
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315062 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the minimum and maximum number of ‘Protected workmen' prescribed under the
Industrial Disputes Act, 19477

1. Minimum 20 and Maximum 100
2. Minimum |35 and Maximum 75
3. Minimum 10 and Maximum 50

4. Minimum 35 and Maximum 100

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315063 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which Convention Number of International Labour Organisation, ‘the right to organise and
collective bargaining” has been declared as fundamental rights?

1. Convention No. 19
2. Convention No.87
3. Convention No.98

4. Convention No.103

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315064 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following organisations the scheme of workers participation in management-
1983 was made applicable?

L. Public sector undertaking
2. Private sector undertaking
3. Central Public sector undertaking

4. State Public sector undertaking

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315065 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the provisions of the Mines Act, 1952, if any owner agent or manager fails to submit
within which period a draft bye-law after being called upon by the Chief Inspector or Inspector,

the Chief Inspector or Inspector on his own may propose a draft of such bye- law as appear to
him as sufficient?

1. One month
2. Two months
3. Six months

4. Twelve months

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315066 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“If a strike is resorted to for a short period such as a day or two to give the employer a warning of
the likely wider form of confrontation if their demands are not prompty conceded” is called?

1. General strike
2. Particular strike
3. Token strike

4. Jurisdictional strike

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315067 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Certificate of fitness issued by the certifying surgeon to an adolescent worker shall remain
valid for which period under the Factories Act, 1948?

1. Six months
2. Twelve months
3. One year

4. Two year

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315068 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the provisions of the Mines Act, 1952 the special officers after giving not less than how
many days notice to the manager of the mine, enter the mine for survey, level or measure the
mine,

. Thirty Days
2. Fifteen Days
3. Seven Days
4. Three Days

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315069 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The displacement allowance equal to which of the following to be paid by a contractor to every
Inter-state Migrant Workman at the time of recruitment as per the provisions of the Inter-state
Migrant Workmen (Regulation of Employment and Conditions of Service) Act, 19797

. Seventy- five percent of monthly wage payable to him or one hundred rupees whichever is
higher

2, Fifty percent of monthly wage payable to him or one hundred rupees whichever is higher
3. Fifty percent of monthly wage payable to him or seventy five rupees whichever is higher

4. One month wage to be payable to him or two hundred and fifty rupees whichever is higher

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315070 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Advisory Committee constituted under the Equal Remuneration Act, 1976 shall consist of
how many person nominated by the appropriate government of which one- half shall be women?

I. Six persons
2. Eight persons
3. Ten persons

4. Fourteen persons

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315071 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 80 Question Id : 34212315072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the provision of the Payment of Bonus Act. 1965, bonus payable to an employee shall be
paid with in how many months from the close of the accounting year?

1. Two months
2. Three months
3. Six months

4. Eight months

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315072 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under the provisions of the Employee Provident Fund and Miscellaneous Provisions Act, 1952, a
Tribunal may within which period of time from the date of its order can rectify any mistake
apparent from record and amend the order?

I. Within One year
2. Within Three year
3. Within Five year
4, Within Seven year

Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315073 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the provisions of the Minimum Wages Act, 1948 a worker is required to present his
application for less payment of wages before the claim authority within which time from the date
on which minimum wages become payable to which he is eligible?

1. Three months
2. Six months

3. Sixty days

4. Ninety days

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315074 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When welfare work is used as a means to secure, preserve and develop the efficiency and
productivity of labour, it is called :

L. Philantharopic Theory
2. Trusteeship Theory
3. Functional Theory

4. Placating Theory

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315075 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Committee of Experts on Welfare facilities for industrial workers constituted by I. L.O. in
1963 has divided the welfare services in two groups- intra-mural and extra- mural. What service
is not included in extra-mural services?

I. Maternity benefit
2. Health service including occupational safety
3. Library and reading room

4, Transport to and from the place of work

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315076 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 85 Question Id : 34212315077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Labour welfare has been defined as “efforts to make life worth living for workers™ by:

|. Oxford Dictionary
2. Chamber's Dictionary
3. R. R. Hopkins

4. James Todd
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315077 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who has defined social security as Tt is a controversial and dynamic subject with various facets-
philosophical, theoretical, humanitarian, financial, administrative, social, economic, political,
statistical, acturial, medical and legal."

|, Fridlander
2. Lord Beveridge
3. Weber and Cohen

41L.O
Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315078 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 1S dafte
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Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is not a characteristics of competitive market?

1. There are many buyer and many sellers in the market.

b3

. Goods offered by the various sellers are largely the same.

(]

. Buyers and sellers are said to be price takers

4. Firms can freely enter the market but cannot exit.

Options:
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315079 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The doctrine of conspicuous consumption was propounded by:

|. Throstein Veblen

b3

. Robert Giffin
3. Paul A. Samuelson

4. Alfred Marshall
Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315080 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(el

Question Number : 89 Question Id : 34212315081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In economy, the trade cycle revolves around the phases of boom, recession, depression and
recovery. The unemployment caused due to effects of recession and depression is called:

. Structural unemployment
2. Frictional unemployment
3. Cyclical unemployment

4. Seasonal unemployment

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315081 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The supply curve of a commeodity slops:

1. Upward in right

b3

. Downward in right

(]

. In Straight line
4. Is perpendicular to y-axis

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315082 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212315083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in the process of planning in proper order from earlier to later.

A. Setting objectives

B. Identifying alternative

C. Being aware of the opportunity

D. Choosing an alternative

E. Comparision of alternatives in the light of goals sought.

Choose the correct answer from the options given below:
1.C,A,B,E.D
2B B D
3.AB,C,DE
4B, ACD,E

Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212315083 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TN (IS AT U H o aftra =Rl i S U JeRdddl A H ofaieyd fobfou

A, e YRy

B. fdd e Bl UgdH

C. 3qR Y T GHI

D. fdhed 90

E. Hi71 70 qifesel el o affeflep  fdbedl & el

A feu o fadedi § U @@t SR & 904 DI

.C,A,B,E,D

2.C,B,E,A,D
3.A,B,C.D,E

4.B,A,C,D,E
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the steps in the process of controlling in proper order from earlier to later.

A. Setting standard

B. Determination of areas of control

C. Comparison of performance against standard
D. Measurement of performance

E. Correction of deviation

Choose the eorrect answer from the options given below:

1.A,B,C.D,E
2.A,C.D,B.E
3.B,A,D,C,E
4.B.C,D,AE

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315084 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R0 e o AT e Al @ 2Tiad ¥ Radl A H 3fd HH H aiyd Sifau|
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R CEREREREL
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1.A,B,C,D,E

2ACDBE
3.B,A,D,C,E

4.B,C,D,AE



Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of human resource planning in proper sequence starting from the
begining:

A. Plan to modify or adjust the organisational plan.

B. Analysing the organisational plan.

C. Forecasting the demand and supply aspects of human resource.
D. Estimating the net human resource requirements.

E. Plan to manage deficit/ surplus of human resources.

Choose the correct answer from the options given below:

1.D,AE,C,B
2.A,C.B,D,E
L.B,C,D.AE

4.C,D,AB,E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315085 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A fGu U fadedl § U W8T IR 1 90 BIC:

I.D.AJE.C.B

2.8 C. B, B E
3.B,EDAE

4.C,D,AB,E

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following five career stages starting from the earliest to the latest:

A. Exploration
B. Decline
C. Late-career

D. Mid- career
E. Establishment

Choose the correct answer from the options given below:
l1.AE.D.C.B
e DL EC B
346, 0. B
4.A.B. D CE

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315086 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

BRI & Gl g Wbl &l fedn ¥ yfid &1 1 FafRid Bife

A, 790
B. glY
C. BN P JTad| DI

D. DI HT 7 HId
E. QU]

{4 feu e fad el © O I IR &1 954 DIl
LASE DLC. B
2ADEC.B
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following steps of performance appraisal process from begining to end.

A. Communicate performance expectations to employees.
B. Establish performance standards

C. Compare actual performance with standards.

D. Measure actual performance.

E. Discuss the appraisal with the employees and, if necessary, initiate corrective actions.
Choose the correct answer from the options given below:

1.A,B,D.AE
2BADCE
3.B,C,A,D,E
.. BAED

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315087 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i feu e fadedt 1 U W57 I &1 T PIC

LA B,DAE

2:B/ABC.E
3.B,C,A,D,E

4.C,B,AE,D

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following four types of firms as identified by Bolwijn and Kumpe, in terms of their
emergence starting from the earliest to the latest.

A. The quality firm

B. The innovative firm
C. The efficient firm
D. The flexible firm

Choose the eorrect answer from the options given below:
1.A,C,B,D
2.C,A,D.B
3B,D.C.A
4.D,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315088 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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ILA,.C,B.D
2CADE
3.B,D,C,A

4.D,B,A,C



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following five stages of personality development given by Freud, starting from the
earliest to the latest.

A. Phallic stage
B. Genital stage
C. Oval stage

D. Anal stage

E. Latency period

Choose the correct answer from the options given below:

.C,D,A,E,B
2.D,C,A,B.D
3.4.B,DCE

4B.D,AEC

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315089 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A, oifid 3wy
B, TH® 3a®]
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A U fodedl 4 Y @91 IR P19 BT

.C,D,AJE.B
2.D.C,A.B.D
3.A,B,D,CE

4.B,D,AE,C

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the main provisions of the Trade Unions Act, 1926 according to their sections from
earlier to later.

A. Rights and Privileges of a Registered Trade Union.
B. Registration of Trade Union.

C. Incorporation of a registered Trade Union.

D. Power to make regulation.

E. Amalgamaation and dissolution of a Trade Union.

Choose the correct answer from the options given below:

1.B,C,AE,D
2B ARLED
3.A,B,C,D,E

4.C,B,A,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315090 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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I.B.C.AE.D
2.B,A,E.C,D
3.AB.C_D.E

4.C,B,A,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Trade Unions in proper sequence according to their formation from earlier
to later.

A. Hind Mazdoor Sabha

B. The Hindustan Mazdoor Sevak Sangh

C. The Red Trade Union Congress

D. The Textile Labour Association, Ahmedabad
E. Bhartiya Mazdoor Sangh

Choose the correct answer from the options given below:

&€ B DE
2.B,C.A,D.E
3.D,C,B,AE

4.EAB,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315091 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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i U e fadhedl 7 ¥ T I 1 9 BT
1.A,C,B,D.E
2.B,C.A,D.E
3.D,C,B,AE

4.E,A,B,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following processes involved in reference of dispute to Voluntary Labour Arbitration
from beginning to end.

A. Arbitration agreement

B. Submission of an Award

C. Signing of an Award

D. Choice of Dispute settlement
E. Selection of Arbitrator

Choose the correct answer from the options given below:

LA JE,D,B.C
2.D,E,A,C,B
3.C.8.A,D.E

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315092 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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LAEDBC

2DEACH
30,84, D.E

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in the sequence as mentioned under the Minimum Wages Act, 1948 with
regard to fixing and revising minimum rate of wages by the appropriate government.

A. For different localities.

B. For different classes of work in the same schedule employment.
C. For different schedule employment.
D. For adults, adolescent, children and apprenties.

Choose the eorrect answer from the options given below:

1.LA,B,C,D
2.C,B,D,A
3.D,C,BA
4.B,C,D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315093 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.A,B,C,D

2EBDA
3.D,C,B.A

4.B,C,D,A



Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions of the Industrial Disputes Act, 1947 in ascending order in
accordance with their years of enactment / amendment.

A. Dismissal etc, of an individual workman to be deemed to be an industrial dispute
B. Setting up Grievance Redressal Machinery

C. Voluntary reference of dispute to arbitration.

D. Payment of full wages of workman pending proceedings in higher courts.

E. Definition of continuous service.

Choose the correct answer from the options given below:

.LE.D,A.B.C
2.A,B,DE.LC
3CEADR

4.B,C.E.D.A

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315094 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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.LE,D,A,B,C

2.A,B,D,E,C
L.CEADB

4.B,C.E.D,A

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following provisions in ascending order from the year of enactment or amendment
under the Employees Provident Fund and Misecellanerous Provisions Act, 1952.

A. Employees Provident Fund Scheme

B. Employees' Deposit- linked Insurance Scheme
C. Employees' Pension Scheme

D. Family Pension Scheme

Choose the correct answer from the options given below:

1.A,B,C,D
2.4,D,B.C
3.A,C,D,B
4.D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315095 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.LA,B.C,D

2.A,D,B,C
3.A,C,D,B

4D,C,B,A



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the provisions of the Maternity Benefit Act, 1961 according to their section in earlier to
later order:

A. Notice of claim for maternity benefits and payment there of

B. Employment of or work by, women prohibited during certain period.
C. No deduction of wages in certain cases.

D. Right to payment of maternity benefit.

E. Dismissal during absence of pregnency.

Choose the correct answer from the options given below:

1.A,B,C.D,E
2.B,D;AEC
3.B,AJE.C,D

4ACDRE

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315096 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1A BCDE
2B, D,AEC
LBAECH

4.A,C,D,B.E

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following poverty elimination / alleviation programmes according to the vear of their
launching in earlier to later order:

A. Swarna Jayanti Gram Swarojgar Yojana

B. Swarna Jayanti Shahri Rojgar Yojana

C. National Rural Employment Guarantee Act
D. Sampoorna Grameen Rojgar Yojana

E. Pradhan Mantri Kaushal Vikas Yojana

Choose the correct answer from the options given below:

.B.A B.CE
2.B,C,D,AE
3.4,B,CED

4 A CRBED

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315097 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. BARCE

2B.C.D,AE
3.4AB,CED

4. ACBED

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are the characteristics of Indian Labour Market?

A. Diversity in work place

B. Existence of perfect mobility
C. Monopoly in Labour market

D. Monopsony in labour market
E. Highly competitive in character

Choose the correct answer from the options given below:

1.A,D,E only
2.A, B, Conly
3.B.C.E only
4.C,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315098 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 350 C, D, E



Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the provisions of the Payment of Wages Act, 1936 for which of the following industries,
the appropriate government is the central government?

A. Railways

B. Ports and Docks
C. Mines

D. Oulfields

Choose the correct answer from the options given below:
I.A, B, Conly
2.A,C,Donly
3.A,B,Donly
4,B.C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315099 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are theories of Labour Welfare?

A. Efficiency

B. The Police

C. Responsibility
D. The Placating
E. The Functional

Choose the correct answer from the options given below:

1.B, D, E only

(o

. A, C,Donly

5]

.B. C, D only

4. A, C,E only



Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315100 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hid feu U fqdedi § U ol IR &1 99 I
|.$ddB.D.E

hdd A. C.D
$HddB.C.D
4. HAAA.C.E

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 109 Question Id : 34212315101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are theories relating to accidents and risk taking behaviour?

A. Psychological theories

B. Economic theories

C. Structural theories

D. Psycho- sociological theories
E. Anthropological theories

Choose the correct answer from the options given below:
1. A, B, Conly
2.C,D.E only
3.A,C,Donly
4.B,C, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315101 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gee SR IR o Tl ogagR Y St gl FRifed E Y dH U g
N |G | E AR
B. 3ie i
C. GRS gl
D. 1 - GHISRI g
E. Jidq 9 T&iid fsid
fd feu U fddedi © 9 967 IR Bl 994 Hift:
1. hdd A, B, C
2. Had C, D, E
3.HAA A, C,D

4 BIAB.C.E




Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following are classical theories of wages?

A. The Subsistence theory

B. The Standard of Living theory

C. The Marginal Productivity theory
D. The Wage fund theory

E. The Bargaining theory

Choose the correct answer from the options given below:

1.A, B, Conly

b3

.A.B.Donly

[

.B, C, E only
4. A, C,D only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315102 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafaRad 1 dH U guicl & AR <id g -

A. fdafe Rgia

B. Sild- TR [Igid

c. Hibid Sdigahdl Hgid

D. Hulgl (1Y fagid

E. Gigarsi Rigid
id A< fGu U fdseal § 9 gp1 IR &1 994 DIfoIu:
|.hdd A, B. C
Hdd A, B.D
HddB.C.E

4. HAdA. C.D

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 111 Question Id : 34212315103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which, among the following, are traditional techniques of controlling?

A. Personal observation

B. Management audit

C. Budgeting

D. Responsibility accounting
E. Break- even analysis

Choose the correct answer from the options given below:

1. A, B, Conly

I3

.B,C,Donly

T

.C,D,E only

4. A, C,E only



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315103 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAaferRad ® O 1 (490 &) RURATd d1d G -

A. dgfadd Ul

B. Ud#/ciRal Ule

C. §uic - FHI

D. &I &I wididh
E. A1 - 3{clTY fa=eiyo

Hid feu U fqdedi § U ol IR &1 99 I
. Hdd A, B. C

$hddB.C.D
HAdC.D.E
4. HAAA.C.E

Options :
1.1
2.2
3.3
4.4

[

[

Question Number : 112 Question Id : 34212315104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are process of staffing?

A. Division of activities

B. Manpower planning

C. Selection

D. Training and development

E. Defining authority and resposibility

Choose the correct answer from the options given below:

1. A, B, Conly

(]

G, D, E-only

5]

.B. C, D only
4. A, C,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315104 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fHifed # U W% & Yaiy- Yl UhH &1 994 $HIfeu?

A. BB AN BT [FHTSH
B. SHRIfa 3o
c.ggd
D. UTRT&07 3R f[ah1g
E. UYSR 3R Gl B URYUINT HIAT
44 feu T fadedl © O gat IR 1 99 HifoIT:
|.Bdd A, B.C
HddC.D.E
. HddB.C.D

4. HAAA.C.E
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Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the on- the- job training methods?

A. Job rotation

B. Vestibule training

C. Role playing

D. Committee assignments
E. Coaching

Choose the correct answer from the options given below:

1.A, B, Conly

b3

.A.D.E only

[

.C,D, E only
4. A, B. D only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315105 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



of i H I Harelei- Ui &t fafeai s i ¢ -

A. BT IPHIHI0]
B. WDTQT&WT

A feu U [qdeti § 9 a7 IR &1 99 HISIT:
1.bdd A, B, C

. Hdd A, D, E

. $dd C,D.E

4. HddA.B.D

Options :
1.1
2.2
3.3
4.4

(]

(]

Question Number : 114 Question Id : 34212315106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are not true relating to grapevine?

A. Information usually travels relatively more slow through grapevine.

B. Grapevines are found in every organisation.

C. The grapevine is a more spontaneous form of communication.

D. The number of people who serve as actual links in the grapevine are generally large.

Choose the correct answer from the options given below:

I.Cand D only
2. B and C only
3. Aand D only

4. Aand Conly

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315106 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fAgifdrel  SWEG § Gfed HH U B Tel Tl o

A \%uglq (AGATS) & T Y G YT Sedd - 3feld Afgw 7id 4 Gad
|
B. U Y164 H SIWIG oIl 6|
C. ST HaR @1 3R 3o e Wl WU G
D. SVarG H ardide YU & &0 H B B3 dlel AT o1 S el 39S oIl gl

A feu T fodedl 4 Y T SR P17 BIoIL:
| $dd C 3RD

2. HadB AN C
3. 9hdd A IR D
4. HITA IR C

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following organisational issues are examined closely in HRD Audit?

A. Long term and short term plans and vision to assess competency requirements.

B. Identification of broad competency requirements for future business goals and objectives.
C. Physical and mental conditions, diseases of worker and his family.

D. Examination of adequacies and inadequacies of HRD.

Choose the correct answer from the options given below:

I.A,B,Donly
2.A. B, Conly
3.B,C,Donly

4.A.C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315107 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T AT el i1 T 66 o ool el ol i bl el § 2

A ﬁwaﬁ&a&ﬁ%wﬁmﬁuaﬁaﬁ%ﬁu@ﬁmwsﬁqw
|

B.uﬁgﬂamﬁaia&uaﬁ?m%ﬁmwa{mm&wﬁwaw

C. DHBR 3R 7% TRAR I IRIRS 3R AFNS G2 3R AT

D. AIHd G1eH [da1g &1 Tl 3R i
il f6u 70 fdepedl § ¥ @81 IR 190 Bifw:
|.$3T A B.D

). BAUA.B.C
3. $9UB.C.D
4. $9AA.C.D




Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following culture are associated with OCTAPACE culture of HRD style?

A. Openness

B. Collaboration
C. Technology
D. Authencity

E. Confrontation.

Choose the correct answer from the options given below:
l.A, B, Conly
2.A,B,D.E only
3.A,C,D,Eonly
4.A,B,C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315108 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



it U I O Sl WIHd ST A Qe b Spaiad (Sfideris) Sl 9
Tgaifia g

A JHdd

B. GE4M

C. el

D. JHTOIEdl
E. cdi]d

i feu MU f[adetl 4 Y 5T IR & T BT
|.$GAA. B, C

). $IAA.B.D.E
3. 90A.C.D.E

4. H9ddA.B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements relating to transactional analysis are true?
A. There are three different types of transactions namely complimentary, crossed and ulterior
occur between the egos.
B. In the crossed transaction there is no scope for conflict.

C. In the ulterior transaction there is high scope of conflict.
D. In the complimentary transection there is no scope of conflict.

Choose the correct answer from the options given below:

1. A,Band C only
2.B.Cand D only
3.A,B,and D only
4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315109 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ToagR T foseiymn ¥ et g1 put Fefed H A @ U g

A, T VFR & UTER Bid ¢ THd: TR0 SR 3R e 419 g & A gl
B.gﬁm@m(ﬂw)wwﬁﬂ%wwﬁw@mﬁWﬁ@ﬁ

C. Y8 SRS WoaagR H ¢ @1 a5 e (oI g ¢
D. X YayagR H ¢l (35) B! Bk o159 e aicl ¢

i feu e fadhedi 1§ 9 75T IR &1 T PIC
| HAq A, B.C

2. BIAB.C.D
3. BITA.B.D
4. BITA.C.D




Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Herzberg's Two Factor Theory which of the following come under the category of
motivater?

A. Achievement
B. Supervision
C. Responsibility
D. Salary

E. Advancement

Choose the correct answer from the options given below:

I.A, BandD only
2.B.Cand D only
3.A, Cand D only

4. A, Band C only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315110 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



guiaTl & fg DR sid & AR gt d H 8 o1 SifHuRom &i 4ol 7 a1l g -

A, 3Udie

B. T4

C. IR
D. 4

E. Wi / 390

i feu L fadhedl # ¥ g8 TR &1 954 BT
1. HddA, B, D
2. Hdd B, C,D
3.$dd A, C.D
4. HaA A, B, C

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following were recommended by the study group set up by Union Ministry of
labour in order to investigate and report the working of the Joint Management Council in 1962 ?

A. Workers Education and Development
B. Involvement of the middle management personnel.
C. Information sharing

D. 33 percent outsides should be workers representatives in Joint Management Council.
Choose the correct answer from the options given below:

1. A,Band C only
2.A. Cand Donly
3.B.Cand D only

4.A,Band D only



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315111 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

7 H 1962 W et TG o PRI T (<01 e R 306k Hefe ¥ HicelecT
m%aﬁaamaﬁwwﬂahmwmmawwaﬁw
GARIERIT

A. THSR (8 IR 95y
B. HY] YY) HIH! 1 Sfciwal
C. Y YR Xl

D, G Weit] TR T HGH b A68 1 35 W2l i SABRI 1 Wi g1 gy
i iU e faehedl # © gpt TR 1 T DI

1. T A, B, C

2. BaA, C,D

3. %4 B, C.D

4.HdTA,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are core elements of the System Framework of Industrial Relations
described by John. T. Dunlop?

A. Certain Actors

B. Certain context

C. Certain habits

D. Certain Ideology

E. Technological context.

Choose the correct answer from the options given below:

[.A,B. Conly
2.A.B.C.Donly
3.A.B.D,E only

4.B,C,D,E only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315112 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A BT Bl

B. BiqUd G

C. Bfaug 3MGd

D, BIATY [dIRYRT
E. U] geu

e feg 1 et # Y Aot I 1 T BT
1.5 A, B, C
). $TA,B.C.D
3§90 A.B.D,E
4.HdqB, C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following factors had played their legitimate part in building up of the Madras
Labour Union?

A. the status of the labourer as labourer 1n relation to his employer, affecting the economic and
industrial life of the country.

B. The status of the labourer as citizen affected by the political movement and their result.
C. The status of the labourer in their international world of labour due to Russian Revolution.
D. The status of the Indian Crony Capitalism that forces the labour to be associated.

Choose the correct answer from the options given below:

I.A, B, Conly
2.A.B,Donly
3.B.C.Donly

4.A,C,Donly

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315113 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B, I 3G Ie 3R 37d URUM T Yidd RS & &0 H 4iid! & yiefd

C. B ifdl b SR SR 47 T H 4fivanl Bl g

D.éfﬁ%ﬁﬁ%ﬁ?ﬁmﬁf@ﬁmwwwmﬁﬂaﬁmwaﬁ

el Fe TC fachedt # 9 gt SR @1 9 BT
1.Hd A, B, C
2. B A, B.D
3. %4 B, C.D
4. B3TA,C.D

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following organisations are autonomous organisations under Ministry of Labour?

A. Employees State Insurance Corporation

B. Employee Provident Fund Organisation

C. Dattopant Thengadi Board for Workers Education and Development.
D. Labour Bureau

E. V. V. Giri National Labour Institute.

Choose the correct answer from the options given below:

I.A,B,C.Donly
2.A,B,C.E only
3.B.C,D.E only
4.A,B,D,Eonly

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315114 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

4 3R AR HATTT & gz W SeH fFeifed d a9 R d g

A, HHART 15 i
B. HHAR] Hids i T
C. DHAR] B 4T 3R I [ & forg grird 4t als

D. 47 &
E. dI. d1. TRI P 47 Y&

T feu T fadedl # ¥ o7 IR BT T4 DIV
1.HddA,B,C,D
2. HAA A, B, C, E
3, $dd B, C. D, E
4, Ha A, B, D, E



Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The provision for constituting various committees under the Building and Other Construction
Worker (Regulation of Employment and Conditions of Service) Act, 1996 are:

A. Technical Advisory Committee
B. Central Advisory Committee
C. State Advisory Committee

D. Safety Committee

E. Expert Committee

Choose the correct answer from the options given below:

I.A.Band C only
2. A, B.and E only
3.B,C,DandE only

4.A.B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315115 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YA 3R I TAAI BHBR QISR [ 3R Ua1 90d) AT, 1996 & A T3d
faf¥er ATl & 16 el 3ud & -

A. ThD! GgHR TAfd
B. H41d GalgR HiHfd
C. I HeTgdR HHfd

D. G341 gfAfd

E. fagivy 9iffa

i feu e faedl § ¥ wpt IR BT DI
| Had A, B, C
). Had A, B.E

3. 5ddB.C.D.E

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Select the authorities covered under the provision of the Emplovees Provident Fund and
Miscellaneous Provisions Act, 1952 from the followings.

A. Central Board

B. Board of Trustees

C. State Board

D. Advisory Commitee
E. Executive Committee

Choose the correct answer from the options given below:

[.A,C,D,E only
2.A,B,C,Eonly
3.A,B,C,Donly

4.B,C,D, E only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315116 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



7 T U SR Hiaw (Y SRyl Jusy S, 1952 & 3 GFfTd Uit @l
CIEUE
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B. NI g5
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D. GelghR FiHfd
E. gt afwfd

rd few o foedl § 9 Tt I &1 9 Bl
| BT A, C.D.E

). Hdd A B.C.E
3. BI0A.B.C.D
4. $q0B.C.D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under the provisions of the Inter- state Migrant Worker (regulation of employment and
conditions of services) Act, 1979 other facilities to be provided to the migrant workman by his
emplover includes:

A. To ensure suitable conditions of work.

B. To provide and maintain suitable residential accomodation.

C. To provide education facilities to the children of migrant workmen,
D. To provide the prescribed medical facilities to workmen.

E. To provide such protective clothing to workmen.

Choose the correct answer from the options given below:

1. A, B, CandD only
2.B.C.Dand E only
3.A,B.DandE only

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315117 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I ATt FHGR QISR AT 3R et i) ARTH, 1979 d e el gRT
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A. ST PRI G B

B. ST 1Ty GiaeT e ST 3R JHT SR
C. Yo SHGRI STl Bl 18 B Gaum yeH o1
D. HHGRI B! fdfg Fafcedt Gfaem Sucres deel

E. HHOR] &I TS a6 (TRYH) SUded Sl

e feg 1 et # Y Aot I 1 T BT
1. A, B, C.D
). $TB, C.D,E
3§90 A.B.D,E

4.A,B,C,D,E

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

AR LISTII
Propounders of management Visdaii
thought P
A | Charles Babbage I | Development of personnel
Running organisation in more rational manner instead of traditional
B. |Robert owen IL R )
authority or charismatic authority
| Max Weber 1 A gystem view point may provide the impetus to unify management
theory
D. |Fred Luthans IV. [ Work specialisation

Choose the ecorrect answer from the options given below:
[. A-IV, B-IIL, C-I1, D-I
2. A-IV,B-I, C-II, D-III
3. A-L B-II, C-III, D-IV
4. A-LB-IIL C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315118 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-II, D-I

2. A-IV,B-[, C-II, D-III
3.A-L B-IL CII1, D-IV
4. A-L B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Formats of organisation Explanation

Structured to accomplish specific task within the constraints of time,

A | Project organisation | L :
= money and quality

B Functional N Personnel manager ensures appointment of right people at the right time
" | ofganisation " | and place

_ . o A hvbrid organisational structure which 1z a combination of functional
C. | Matrix organisation | IIL 3 "

and project structure
Networking . | A multinational structural arrangement that combines elements of
ofganisation function, product and geographic design to link worldwide subsidiaries.

Choose the correct answer from the options given below:

L. A-IV, B-IIL, C-II, D-1I
2. A-IL B-I, C-IV, D-III
3. A-IV, B-II, C-III, D-I

4. A-L B-II, CII1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315119 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-IL, C-II, D-1I
2. A-IL, B-I, C-1V, D-III
3. A-IV, B-II, C-III, D-1

4. A-1, B-IL, C-III, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Business (Games Utility
Case Study I. |Encountering Skills
Role Play II. |Situational judgement and problem solving skill

In- basket method | IIL. | Analvtical judgemental and decision making skill

olo|w|»

Simulation IV, |Human Relation Skill

Choose the correct answer from the options given below:

1. A-I, B-IL. C-IIL D-1V
2. A-1l, B-1II, C-IV, D-1
3. A-III, B-IV, C-11, D-I

4. A-IV, B-1. C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315120 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-IIL, D-IV
2. A-11, B-1II, C-1IV, D-1
3. A-1IIL, B-1V, C-11, D-1

4. A-IV, B-1, C-1I1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Methods Application
A | Assessment centre I | Recritmemnt
B. | Application blank II. | Performance appraisal
C. | Job rotation I1I. | Selection
D. | Employment exchange | IV. | Training and developtment

Choose the correct answer from the options given below:
1. A-II. B-TII, C-IV, D-I
2. A1, B-II, C-1I1, D-1IV
3. A-IIL B-1. C-II, D-IV
4. A-IV, B-1I, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315121 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II. B-III, C-IV, D-I

=N RN R

2. A-1, B-IL, C-III, D-IV
3. A-IL, B, C-II, D-IV

4. A-IV, B-1II, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Sources of power Features
Rerward power [ | Ability to influence others as a result of being liked and respected

Legitimate power | 1. | Ability to influence other by recognised competencies

Expert power III. | Ability to influence others by one's formal position

o|lo|w|s

Referrent power | IV. | Ability to influence others by giving rewards

Choose the correct answer from the options given below:
1. A-L B-IL, C-III, D-IV
2. A-IL, B-1, C-IV, D-1II
3. A-IIL, B-IV, C-1, D-TI
4. A-IV, B-I1I1, C-11, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315122 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. AL, B-II, C-III, D-IV

2. A-IL B-I, C-IV, D-ITI
3. AL B-1V, C-I, D-II
4. A-IV, B-IIL, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Theories of Motivation Propagator
A |Equity Theory I | Victor Vroom

ERG Theorv II. | David C. Mc Clelland

B
C. | Achievement Theory | III. | Clay Alderfer
D

Expectancy Theory | IV | Adams

Choose the correct answer from the options given below:
1. A-1, B-III, C-II, D-IV
2. A-IV, B-1II, C-II, D-I
3. A-IILL B-1, C-IV, D-II
4. A-II. B-IV, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315123 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L B-III, C-II, D-IV
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2. A-IV, B-II1, C-11, D-1
3. A-1IL, B-1, C-1V, D-II

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LIST 1 LISTII
HRED Framework Developer/ Formulator
A | The strategic framework approach I. | Yeung and Berman
B. | The integrative framework approach II. | Ulrich and Lake
C. | HRD scorecard approach [II. | Curtis and Team
D. | The People Capabillity Matuarity Model (P-CMM) approach | IV. | TV. Rao

Choose the correct answer from the options given below:
1. A-IL, B-1, C-IV, D-III
2. A-IL B-IIL, C-I, D-IV
3. A-I, B-III, C-IV, D-II
4. A-IIT, B-IT, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315124 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-1, C-IV, D-III
2. A-IL B-III, C-1, D-IV
3. A1, B-III, C-IV, D-Il

4. AL B-IL C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LIST IT
Functional classification of trade unions| Suitable examples
A | Business unionism [. | The knights of labour
B. | Friendly unionism II. | American federation of labour
C. | Revolutionary unionism III. | The brotherhood of teamsters
D. | Predatory unionism IV. | Industrial workers of the world

Choose the correct answer from the options given below:
1. A-II, B-1, C-IIL, D-IV
2. A1, B-1, C-IV, D-III
3. A-I, B-III, C-IV, D-II
4. A-IT1, B-IV. C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IT, B-1, C-III, D-IV
2. A-11, B-1, C-1V, D-111
3. AL, B-III, C-IV, D-1I

4. A-II1, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Provisions Acts

& | comies [ The Contract Labour (Regulation and Abolition) Act,

1970
B Workers Participation in Safety 1 The Child and Adolescent Labour (Prohibition and
" | Mahagement " | Regulation) Act, 1986
C. | State Advisory Board 1I. | The Factories Act, 1984

D. | Technical Advisory Committee IV | The Mines Act, 1952

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-IL, D-I
2. A-IIL, B-IV, C-I1, D-I
3. A-IV.B-IIL, C-1, S-1I
4. A-1, B-IL, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IV, B-IIL C-I1, D-1
2. AL, B-1V, C-11, D-I
3. A-IV,B-IIL, C-I, S-II

4. A-L, B-IL C-IV, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Forms/ Types of Appropriate meanin
strikes AT :

A |Lightning strike | I |Physical blockade caused by a conflict and organised mostly by employees

Gherao II. | Strike suddenly announced without proper notice

7 8 An act of posting pickets and tmplies marching of workmen in front of the
C. | Picketing 1L : ]
premises of the employer

D. | $tav in sirike Iv A group of emplovees take possession of property of the business and stop
i : " | production and refuse access to the owners desiring to work.

Choose the ecorrect answer from the options given below:
[ A-IL B-IIL C-I, D-IV
2. AL B-I, C-IIL D-IV
3. AN B-L C-IV, D-IT

4. A-IL B-L, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IL B-IIL C-I, D-IV
2. A-IL B-[, C-IIL D-IV
3. A-IIL B-I, C-IV, D-II

4. A-IL B-L, C-IV, D-III
Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Provision Laws/ Act
g [P I |The Industrial Disputes Act, 1947
Allowance
Disahility I The Inter-state Migrant Workmen (Regulation of Emplovment and

Allowance " | Conditions of Service) Act, 1979

C. |Journey Allowance | III. | The Industrial Employment (Standing Orders) Act, 1946
D. | Notice of change IV | The Mines Act, 1932

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-I, D-II
2.A-LB-II, C-IV, D-IIT
3. A-IL B-1V, C-IL. D-I
4. A-L B-L, C-IIL D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4 fGu U foaedl H O gt IR &1 95 BT

L. A-IV,B-IIL, C-I, D-II

2. A-L B-II, C-IV, D-III
3. AL B-IV, C-I1, D1

4. A-IL B-I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
laws Underlving Principle
A | The Factories Act [ | To promote social security
The Equal Remuneration Act Il | To regulaate the relation

C The Employees Provident Fund and Miscellaneous M To promote welfare and protect from
" | Provistons Act " | explottation

D. | The Industrial Employment (Standimg Orders) Act | IV, | To promote social justice

Choose the correct answer from the options given below:
1. A-IIT, B-IV, C-I, D-II
2. A-IV.B-IIL, C-I1. D-I
3. AL B-[ C-II, D-IV
4. A-I, B-II, C-1V, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-IV,B-IIL, C-11, DI
3. AL B-L, C-IIL D-IV

4. A-I, B-II, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Principles of labour welfare Explanation
A | Adequacy of wages [ | Development of human personality
B Soctal responstbility of 1 Coordinated effort will promote a healthy development of

* | industry © | worker.
C. |Re- personalisation I11. | Workers have a right to adequate wages
D. | Co-ordination IV Ind.usrr-_ﬁ' has an obligation towards its employees to look after

their welfare

Choose the correct answer from the options given below:
1. AL B-II, ,C-II, D-IV
2. A-IV. B-II, C-TI1. D-I
3. A-IV.B-I, C-III, D-II
4. A-IIL B-IV, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L B-IL, ,C-III, D-IV
2. A-IV, B-II, C-III, D-1
3. A-IV,B-[, C-III, D-II
4. A-IIL B-1V, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LIST1 LISTII
Authorities Acts
A | Advisory Committee | I | The Payment of Gratuity Act, 1972
B. | Controlling Authority | II. | The Minimum Wages Act, 1948
C. | Advizsory Board I1I. | The Equal Remuneration Act, 1976
D. | Central Board IV. | The Emplovees Provident Fund and Miscellaneous Act, 1952

Choose the correct answer from the options given below:
1. A-IIL B-1, C-I1, D-IV
2. A-IL B-IIL, C-IV, D-I
3. A-IV, B-II, C-III, D-1
4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-L, C-TI, D-IV
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[

. A-II, B-TII, C-IV, D-I
3. A-1V, B-1I, C-1II, D-1

4. A-IV, B-1, C-II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
LISTII
Types of .
: Explanation
unemployment

& |meam [ When economy faces structural changes like decline in export trade, 1t

OCCUIS.
Trade cycle revolves around boom and recession. In periods of depression
B. | Structural IL Ak :
and recession, demand decreases and leads to this tvpe of unemplovment.
C. |Frictional III. | Changes in the techniques of production leads to unemployment
- - | Immobility of labour, shortage of raw materials, breakdown of machinery etc
D. | Cyclical IV I ®

Choose the correct answer from the options given below:
[. A-IL B-IV, C-I1. D-I
2. AL B-L C-IV, D-II
3. AL B-L, C-II, D-IV

4. A-IV, B-IIL C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-IV, C-II, D-I
2. A, B-1, C-IV, D-TI
3. AL B-I, C-IIL, D-IV
4. A-IV. B-III, C-II, D-I
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2
Sub-Section Id : 342123592
Question Shuffling Allowed : No

Question Id : 34212315133 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the question:

In the Indian context, the social evils suffered by laboures such as, exploitation, illiteracy, lack of
skill training, substance abuse, among many others, are reduced to a greater or lesser extent by
the country’s welfare policies. During the pre-independence period the industrial relations policy
of the British government was generally based on laissez faire and selective intervention. There
were hardly any labour welfare schemes. After Independence, labour legislation has been
introduced which has shaped industrial relations and social security in contemporary India. The
legislations have also provided for the machinery for bipartite and tripartite consultations for the
settlement of labour- management disputes.

Soon after independence, the government at a tripartite conference in December 1947 adopted an
industrial truce resolution. The following laws were enacted to maintain industrial peace and
harmonious labour-management relations: the Factories Act of 1948, the Employees State
Insuraance Act of 1948 and the Minimum Wages Act of 1948, Later, the Bonus Act was passed in
1965. The Constitution of India also spells out of the underlying principles of state policy which
place an emphasis on labour welfare, especially Articles 38 to 43 of the Constitution. Labour
welfare in India is aimed at getting the best out of the worker in the production process by
creating the worker conditions required for this outcome.

In the early 1990s, the neoliberal economic reforms that were introduced by the government set
in motion a series of measures to reduce state regulation of industries, particulary the larger
industries. In general, the country’s worker have opposed these economic liberalization policies
out of fear of unemployment while the country’s enterpreneurs have welcomed it in in hope of
obtaining new opportunities to improve India’s industries. These new economic policies have
directly affected industrial relations in the country.

Sub questions

Question Number : 141 Question Id : 34212315134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the predominant industrial relations policy of the British government in pre-
independence India?

1. Socialist Welfare State
2. Total State Control
3. Laissez faire and selective intervention

4. Free market capitalism

Options :
1.1
2.2



3.3
4.4

Question Number : 142 Question Id : 34212315135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The tripartite conference of 1947 adopted which resolution ?

1. Socialist revolution resolution

(i)

. Industrial truce resolution
3. Labour strike resolution
4. Industrial democracy resolution

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which legislation aimed to provide social security benefits to workers in India.

1. Minimum Wages Act, 1948

2. Payment of Bonus Act. 1965

3. Factories Act, 1948

4. Employees State Insurance Act, 1948

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



How did labour generally react to the neoliberal economic reform in early 1990's?

1. With concern over potential job loss.

2. With widespread support and enthusiasm.

3. With increased demand for higher wage.

4, With calls for stricter government regulations.

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the primary goal of Labour Welfare Policies in India as stated in the passage?

L. To promote international trade agreements.

2. To increase corporate profits.

3. To enhance worker productivity through improved conditions.
4. To encourage privatization of industries.

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315133 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212315134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212315135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4



Question Number : 144 Question Id : 34212315137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
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Question Id : 34212315139 Question Type : COMPREHENSION Sub Question Shuffling Allowed



: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the passage carefully and answer the question:

The labour force participation rate (LFPR) and unemployment rate (UR) reflect a combination of
whether an individual is looking for job and actually able to get one. The UR is defined as the
percentage of unemployed individuals n the labour force as a share of the employed and the
unemployed —the term unemployed itself referring to those who are willing and/or able to work
but have not been able to find work. The LFPR, in turn, is the percentage of the employed and the
unemployed as a share of the working age population in the labour force.

A major misconception about the labour market is that a low UR is unambiguously a positive
indicator of the health of the labour market. The reason is that a fall in unemployment does not
necessarily imply a rise in employment. Both can move in the same direction because of the
presence of third category, the out of labour force (OLF). In other words, the total working age
population of the economy is divided info three, not two, categories. The OLF consist of
individuals who are either not willing to or not looking for work. If there is a rise in the share of
the OLF because individuals get discouraged by job prospects and stop looking for jobs, it can
still lead to a fail in UR without the creation of any jobs. The unemployment measure in itself
thus is not a fair indicator of the health of the labour market,

More importantly, even if the fall in unemployment is due to an actual rise in unemployment and
not the PLF, the rise in the broad category of employment itself need not be a sufficient cause for
cheer. It would indeed be a positive development if it being driven by an increase in high- wage
jobs, including salaried ones, or people setting up flourishing businesses and generating
employment. On the contrary, it may be driven by rise in forms of employment that are not
particularly remunerative, such as some form of low-return informal sector self-employment
activity just to eke out a living or as a helper in household enterprises, a subcategory of the self-
employed because they cannot find anything better to do.

Sub questions

Question Number : 146 Question Id : 34212315140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How has the Labour Force participation Rate (LFPR) been interpreted in the passage?

1. Percentage of unemployed individual in Labour Force.

2. Percentage of employed individual in the Labour Force

3. Percentage of employed and unemployed individuals in the working age population.
4. Percentage of the working age population.

Options :



1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the term “Out of labour Force™ (OLF) refer to?

1. Individuals not looking for work

[

. Individuals not willing to work
3. Individuals not able to work.
4. Individuals neither looking nor willing to work.

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Why might a decrease in the unemployment rate (UR) not necessarily indicate a healthier labour
market?

. Because it may coincide with an increase in the out of labour force
2. Because it directly correlates with a rise in high-wage job
3. Because it indicates a decrease in low- employment.

4, Because It suggests an increase In government assistance programmes.

Options :
1.1
2.2
3.3
4.4



Question Number : 149 Question Id : 34212315143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What type of increase in employment does the passage suggests as positive for the labour market.

I. Increase in informal sector jobs.

2. Rise in household enterprises.

3. Growth in high- wage jobs and salaried positions.
4. Expansion of low- wage jobs and salaried positions.

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What does the Unemployment rate (UR) measure?

1. Percentage of individuals out of the labour force

3

. Percentage of unemployed individual in the labour force
3. Percentage of employed individual in the labour force
4. Percentage of the working age population.

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315139 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Question Number : 146 Question Id : 34212315140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 150 Question Id : 34212315144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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